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Mit Zehnerpotenzen multiplizieren (fehlende Zahl)

Name:

6, 754 x

6,733 x

4,293 x

3,373 x

4,168 x

4,77 %

9,093 x

8, 899 x

7,281 x

9,313 x

= 6754

= 67.33

=4293

= 3373

= 4168

=477

=909.3

= 8899

=72.81

=931.3

3,75 x

1,399 x

7,201 x

9,217 %

9,483 x

1,388 x

4,318 x

9,347 x

2, 888 x

1, 686 x
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=375

=13.99

=72.01

=92.17

= 9483

= 138.8

= 4318

= 9347

= 2888

=16.86

Ergebnis:
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Mit Zehnerpotenzen multiplizieren (fehlende Zahl)

Name:

6,754 x 100 = 675.4

6,733 x 10 = 67.33

4,293 x 100 = 429.3

3,373 x 1000 = 3373

4,168 x 1000 = 4168

4,77 x 100 =477

9,093 x 100 = 909.3

8, 899 x 1000 = 8899

7,281 x 10 =72.81

9,313 x 100 =931.3

Datum:

3,75 %100 = 375

1,399 x 10 = 13.99

7,201 x 10 = 72.01

9,217 x 10 =92.17

9,483 x 1000 = 9483

1,388 x 100 = 138.8

4,318 x 1000 = 4318

9,347 x 1000 = 9347

2,888 x 1000 = 2888

1,686 x 10 = 16.86
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